ZESTAWIENIE ZJAZDOW | SKRZ)Y ZOWAN DROGA 1311
Dlugo §¢é
Powierzch |Szeroko | w osi
I,p, |km m | strona nia [m2] $¢ [m] [m] Skos/tuk Nawierzchnia

1| 5|220.22 prawa 19,92 4,5 3,6 R=3 kruszywo

2| 5|236.15 lewa 22,5 4,5 4,1 R=3 kruszywo

3| 5[447.85 lewa 23,7 4,5 4,4 R=3 kruszywo

4| 5|641.97 lewa 225 4,5 4,3 R=3 kruszywo

5/ 5/666.25 prawa 12,67 4,5 2,2 R=3 kruszywo

6/ 5(938.91 prawa 49,19 4.4 7,6 R=6 asfalt

7| 5/973.63 lewa 23,7 4,5 4,4 R=3 kruszywo

8| 6/207.51 prawa 63,99 8,3 53 R=6 asfalt

9| 6|275.96 lewa 58,04 5 8,5 R=6 asfalt
9al 6/291.00 prawa 23,7 4,5 4.5 R=3 kruszywo
10| 6|350.49 prawa 35 6,2 4 R=6 asfalt
11| 6|667.50 lewa 21,62 4,5 3,9 R=3 kruszywo
12| 7/168.35 lewa 23,7 4,5 4.4 R=3 kruszywo
13| 7|171.47 prawa 23,7 4,5 4.4 R=3 kruszywo
14| 7/182.41 lewa 23,7 4,5 4,4 R=3 kruszywo
15| 7/195.22 lewa 23,7 4,5 4,4 R=3 kruszywo
16| 7/372.24 prawa 23,7 4,5 4.4 R=3 kruszywo
17| 7|379.14 lewa 16,81 4,5 2,9 R=3 kruszywo
18| 7/395.25 prawa 23,7 4,5 4.4 R=3 kruszywo
19| 8|299.74 lewa 14,23 4,1 2,6 R=3 asfalt
19| 8|299.74 prawa 59,08 6,7 6,5 R=6 asfalt
21| 8|795.65 prawa 20,13 4,5 3,6 R=3 kruszywo
22| 8/883.01 lewa 23,7 4,5 4.6 R=3 kruszywo
23| 8/896.15 lewa 23,7 4,5 4,4 R=3 kruszywo
24| 9/420.02 prawa 23,7 4,5 4,4 R=3 kruszywo
25| 9/475.52 prawa 23,7 4,5 4.4 R=3 kruszywo
26| 9/542.31 prawa 19,17 6,1 2,7 R=3 kostka bet,
27| 9/613.07 lewa 44,7 5,2 5,7 R=6 asfalt
28| 9/696.21 prawa 29,31 4 6,4 R=3 kostka bet,
29| 9|706.56 prawa 24,09 4 5,1 R=3 kostka bet,
30| 9(746.87 prawa 16,3 4,1 3,1 R=3 kostka bet,
31 9(769.27 lewa 40,26 4 8,3 R=3 asfalt
32| 9/805.13 prawa 18,03 4 3,6 R=3 kostka bet,
33| 9/817.90 lewa 7,79 53 1,2 R=3 kostka bet,
34| 9/839.01 lewa 10,06 4,7 1,6 R=3 kostka bet,
35/ 9/851.7 prawa 18,03 4 3,9 R=3 kostka bet,
36/ 918815 prawa 17,28 4 3,4 R=3 kostka bet,




